BbinonHu 3agaHue

AUTe 3Ha4YeHne BblpaXeHUS:
6) 5mod 3; B)9div3; rNo

BblpaXkeHus (integer mnnu

dCKallb




ram labNel;

T€ YHUCJIO X )










Bue> THEN <omeparop 1>
ELSE <omepartop 2>;






<yCcAOBUe> <onepaTtop 1>

Write(‘x="*, X,
End.




IlporpamMmma penieHust KBaIpaTHOIo
YPaABHEHUS

Readln(a,b,
D:=sqr(b)-4*a*
x1:=(-b+sqrt(D))/(2*a

x2:=(-b-sqrt(D))/(2*a);
Writeln ( ‘x1=",x1:5:1, ‘x2
Readkey;

End.




Readln(a,b,c);

D:=sqr(b)-4*a*c;

If D<0 then write(‘He
else

begin

x1:=(-b+sqrt(D))/(2%a);
x2:=(-b-sqrt(D))/(2*a);
Writeln ( ‘x1=",x1:5:1, *x2=",x2:
end;




1f a>b the
else x:=¢

write(x);




a:=9; b:
if (a>b) anc

write(x);




a:=1; b:
if (a<=b) or

write(x);




a:=7/; b:
if (a>b) anc

write(x);
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